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FACULTY OF COMMERCE
B.Com. (Third Year) (Sixth Semester) EXAMINATION
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MANAGEMENT ACCOUNTING
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(Thursday, 28-11-2024) Time : 10.00 a.m. to 1.00 p.m.
Time—3 Hours Maximum Marks—T75
N.B. .— (1) Q. No. 1 is compulsory.
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(2) Figures to the right indicate full marks.
SSEhele ek qui o1 gRiferra.

(3) Use of simple non-programmable calculator is allowed.
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1. The Madhav Company Ltd. is considering the purchase of a new machine.
Two alternatives A and B have been suggested, each having an initial cost
of Rs. 4,00,000 : 20

Year Cash Inflows
Machine ‘A’ Machine ‘B’
1 40,000 1,20,000
2 1,20,000 1,60,000
3 1,60,000 2,00,000
4 2,40,000 1,20,000
5 1,60,000 1,80,000
P.T.O.
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The company has a target of return on capital of 10% and the present value

of Re. 1 at 10% discount is as follows :

Year Present Value
1 0.91
2 0.83
3 0.75
4 0.68
5 0.62

On this basis, you are required to compare the net present value of the machine
and advise which machine should be purchased employing discounted cash

flow method.
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1 40,000 1,20,000
2 1,20,000 1,60,000
3 1,60,000 2,00,000
4 2,40,000 1,20,000
5 1,60,000 1,80,000
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1 0.91
2 0.83
3 0.75
4 0.68
5 0.62
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The following is the Balance Sheet of “Prathamesh Co. Ltd.” as on 31st Dec.,

2022 : 15
Liabilities Rs. | Assets Rs.
Creditors 1,74,000 | Cash 60,000
Provision for taxation 16,000 | Debtors 1,20,000
Outstanding expenses 10,000 | Inventory 1,60,000
Long-term loan 50,000 | Fixed Assets 1,60,000
Share capital 1,60,000
Reserve 60,000
Profit and Loss Account 30,000
5,00,000 5,00,000
P.T.O.
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Other Information :

Net sales : Rs. 6,00,000

( 4

Cost of goods sold : Rs. 4,50,000

Opening Inventory : Rs. 2,00,000

Calculate :

(1) Current ratio

(2) Liquid ratio

3) Debtors turnover ratio

4) Inventory turnover ratio.
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T %, | 9ot %,
I 1,74,000 | =@ 60,000
HUGS IR 16,000 | SAErHOf 1,20,000
IR I 10,000 | hY 1,60,000
HEEANIEMCE 50,000 | feeR ducht 1,60,000
qAT gigda 1,60,000
Ffardt 60,000
Y- 30,000

5,00,000 5,00,000
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The following are the financial statement of Rajesh Co. Ltd. :

Profit and Loss Account

Particulars Rs. | Particulars Rs.

Opening Stock 800 | Sales 90,000

Purchases 40,000 | Closing Stock 1,000
Carriage 1,200
Gross Profit 49,000

91,000 91,000

P.T.O.
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Office exp. 20,000 | Gross Profit 49,000
Administration exp. 23,000
Selling exp. 5,500
Net Profit 500

49,000 49,000

Balance Sheet

Liabilities Rs. | Assets Rs.
Capital 8,000 | Fixed Assets 3,000
Reserve 1,500 | Stock 1,000
P&L Alc 500 | Debtors 1,500
Bank overdraft 1,000 | B/R 2,500
Creditors 1,000 [ Bank 4,000
Bills Payable 3,000 | Cash 3,000

15,000 15,000
Calculate :
1) Current ratio

)

3)

4)

Debtors turnover ratio
Stock turnover ratio

Gross profit ratio.
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From the following income statement of the Sun Ltd., prepare a comparative

income statement and interpret the results : 15
Income Statement

Particulars 2022 2023
To Cost goods sold 2,70,000 2,92,000
To Gross Profit 1,22,000 1,18,000

3,92,000 4,10,000
To Administrative Expenses 60,000 63,000
To Selling Expenses 30,000 35,000
To Net Profit 32,000 20,000

1,22,000 1,18,000

X114Y EFOBE8X114Y EFOBE8X 114Y EFOBES8X 114Y EFOBES



( 9) TA—35—2024

By Sales 4,00,000 4,20,000

Less : Returns 8,000 10,000

3,92,000 4,10,000

By Gross Profit b/d 1,22,000 1,18,000

1,22,000 1,18,000
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fasra qafzm 2,70,000 2,92,000

Hhal | 1,22,000 1,18,000

3,92,000 4,10,000

PR IEC D 60,000 63,000

fast =4 30,000 35,000

S TR 32,000 20,000

1,22,000 1,18,000

ot 4,00,000 4,20,000

ES IR 8,000 10,000

3,92,000 4,10,000

P.T.O.
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bl oY 1,22,000 1,18,000

1,22,000 1,18,000

Or/f&ar

Prepare an estimate of working capital requirement from the following

information of a trading concern :

Annual Sales 2,00,000 units
Selling price Rs. 10 per unit
Percentage of Net Profit 20%
Credit period allowed to customers 8 weeks
Credit period allowed by suppliers 4 weeks
Average stock holding in term of sales requirement 12 weeks

Allow 10% for contingencies.
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The following information is related to Omsai Ltd. for the year ended

2022 : 15
Particulars Actual Budgeted

(Rs.) (Rs.)
Sales 3,60,000 3,00,000
Direct Material 1,50,000 1,20,000
Direct Labour 30,000 42,000
Administrative Exp. 60,000 42,000
Finance Exp. 9,000 12,000
Selling Exp. 42,000 30,000
Total Cost 2,91,000 2,46,000
Profit before tax 69,000 54,000
Tax 15,000 12,000
Net Profit after tax 54,000 42,000

Prepare responsibility accounting report for the profit centre showing there

in variances from budget in absolute figures and also in percentage form.
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ot 3,60,000 3,00,000
P.T.O.
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Joae At 1,50,000 1,20,000
gy A 30,000 42,000
PNIEIECRC ] 60,000 42,000
IEIRIRCE] 9,000 12,000
famt @ 42,000 30,000
THU qeTd 2,91,000 2,46,000
AT Y 69,000 54,000
X 15,000 12,000
HUAR e TH 54,000 42,000
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Aditi Co. Ltd. is considering the purchase of a new machine. Alternative

machines (A and B) have been suggested each having an initial cost of

Rs. 1,00,000 :

Year Cash Inflows
Machine ‘A’ Machine ‘B’
1 40,000 50,000
2 35,000 40,000
3 25,000 30,000
4 20,000 30,000
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The company has a target of return on capital of 12% and the present value

of Re. 1 at 12% discount is as given below :

Year Present Value
1 0.893
2 0.797
3 0.712
4 0.635

On the basis you are required to compare the net present value of the machines
and advise (suggest) which machine should be purchased employing discounted

cash flow method.
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1 40,000 50,000
2 35,000 40,000
3 25,000 30,000
4 20,000 30,000

P.T.O.
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1 0.893
2 0.797
3 0.712
4 0.635
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5. Write short notes on (any fwo) : 10
(@) Methods of Financial Statement Analysis
(1) Advantages of Ratio Analysis
(zi1)  Importance of Working Capital
(fv)  Advantages of Responsibility Account.
Teiiaer diya fear fagr (Fivwe gm)
() facita faexo fagesmor gt
@) g fovetsome wEe

(i) HERN Heddr™ Haco

(v) STEMIE AQhAE ®RER.
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